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o | @ B y Vo T |t=e K k
(% | (nin) | (% [(%nin)| (h) |(am) [(kg/nd % |(n? %kg)
1 |5.1 [20.3 |0.06 | 0.25 [0.97 |5.16 97.2 10.1x 10°°
2 |4.6 |35.0 |0.08 | 0.13 |1.06 [4.69 | 100.4 |10.0x 102
3 /4.7 |58.1 |0.10 | 0.08 |1.16 [4.77 | 104.5 9.6x 1072
4 |4.4|48.1 [0.08 | 0.09 [1.07 |4.47 | 111.9 8.9x 10°°
5 4.2 |162.8 [0.09 | 0.07 |1.06 [4.32 | 125.9 7.9x 1072
6 |4.3 |136.3 |0.11 [ 0.03 |0.84 [4.36 | 121.3 8.3x 1073
7 |4.1 |115.7 |0.07 | 0.04 ]0.88 [4.17 | 103.9 9.6x 1072
8 |4.3 |123.9 |0.10 | 0.04 ]0.90 [4.37 | 111.3 9.0x 1072
9 (4.1 ]192.0 |10.09 | 0.05 [0.97 |4.17 | 132.1 7.6x 1072
10 (4.0 [139.5 [0.09 | 0.03 [0.71 |4.05 | 124.3 8.1x 10°°
11 (3.8 [102.7 [0.09 | 0.04 [0.85 |3.92 | 122.1 8.2x 103
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-2 -3
wiC ] (kg/m) () wWiC (mm)
@) | (%) g d w2 C g G (%)

1| 631 | 45 |1940| 3074 | 7261 | 10645 |1940| 973 | 2709 | 3928 1| 63 | 204 |56 | 201

2 | 549 | 45 |1669| 3042 | 7460 | 11206 |1669| 93 | 2783 | 4135 2 | 55 | 243 | 202 | 155

3 | 546 | 45 |161| 323 | 7369 | 10893 [1761] 1020 | 2550 | 4020 3 | 55 | 209 | 203 | 143

4 | 521 | 45 | 1715 389 | 733 | 10977 |1715| 1041 | 2744 | 4B.1 4 | 52 | 141 | 121 | 760

5 | 408 | 45 |1808| 3632 | 7120 | 10666 |1808| 1150 | 2657 | 2936 5 | 50 | 108 | 133 | 840

6 | 406 | 45 |1/53| 335 | 7189 | 10830 [1/53| 1119 | 2682 | 2996 6 | 50 | 860 | 7.20 | 430

7 | 487 | 45 | 1419 2013 | 7781 | 11667 [1419] 922 | 2903 | 4305 7 [ 49 | 840 | 126 | 690

8 | 517 | 45 |15570| 3202 | 7426 | 11204 [1570] 1042 | 2771 | 4168 8 | 52 | 740 | 5.00 | 460

o | 470 | 45 |162| 3747 | 7288 | 10523 [1762| 1186 | 2720 | 33 o | 47 | 570 | 640 | 520

10 | 461 | 45 |87 345 | 7336 | 11206 |1587| 1000 | 2737 | 4135 101 26 1470 | 240 | 560
11 | 463 | 45 | 1515| 3272 | 7456 | 11429 |1515| 1035 | 2782 | 4217 11| 46 | 440 | 240 | 2.80
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